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Lim

Find the following, given : xli”; flx)=2 xL;'ma f(x)=-3 X a x*f (x)
Lim Lim Li f(x) Lim
x> q ) —gl) = x> a TXgl) = x;ma IO > a (f(x) +2g9(x) = 3)

' Li ; Lim
xLelma V3= f)g () NGOR ()" = xLé"; F200) + g2(x) = x>a VETIEW

Find the Limits

: 4
Lim _ lim ) _ lim x +5x+1 lim
3 x+2= x9_3(x +5x+1)= P s 2 Y2+ 5=
Lim 2 Lim 3 22
= - —x+1
lim o _ Lim  x+3 x5 Xt x>—1 X T T
sinx = _
x>0 x>-3 x2_9
Find the Limits Lim x+2= L:ri 2?45y — 3
Lim 1 Lim x+3 Lim 1 X>—2 x2—4 X237 1 -
x>-3 x+3 x>3 x2-9 x>0 x2
. . 3_
Lim x*—5x+6 _ Lim  x3 —16x Lim = 2x2 4+ 5x -3 Lim ** =8 _
x->3 x — 3 - x> 4 x—4 x%z 2y — 1 = x>2 x—2
Lim x% —16x
Lim x+3 Lim x* =1 _ x> 4 x—4
x>—-3 x3+27 x>1 x—1
3 2 . 3 5 Lim x3 4+ 2x? —4x -8
Lim X +2x +x+2_ Lim x3 4 2x —5x—6_ x> 2 24
x> —2 x+2 - x> -1 x+1 -
Lim  (x—1)3+8
Lim 9—(x+1? Lim (x+2)°-8 Liml—(x+1)4: x> -1 T+ 1
x—> —4 x+ 4 - x> —4 X - x>0 X
1 1
. 1 1 P S
i i S G R
x>0 * = X
11 1 1 L i
Lim — = Lim (x+4)2 16 im x —4 _
x>0 X33 x>0 X = x>16 "1 = Lim Vx—3 _
x =
X2>9 x—-9
Lim Vvx—1-—4 Lim6 vx+3-3 Lim 16 —x Lim x—16
x>17 x—17 x> x—6 x>16 4—/x x>16 4 —4x
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Lim vVx + —2_
>3 x—2-1
Lim 1 1
x>4 Vx 2
x—4
Iimn sinx
x%; 3y
lim cscx =
x—=> 0~

Lim (x + B)? =x? _
h=>0 -

Lim
x=>0

Lim
x—>0

h

sin2x

X

tandx
tan3x

1 1
1 .
Lim _x_i lirr; Vx+3 3
x> 4 = X x?—-9
-4
11m cosx Iimn_ secx = Iimn tanx =
x>% 12x x> X23
lim  gopy = lim oty = I’mn+tanx =
x>nt x—> 0~ x> "
11
Lim X LimVx+h \/_ 1 1
h90x+h X _ lim =-3
h h>0 h x4 VX
x—4
Lim  sindx _ sindx im sin2x _ Lim tandx _
x>0  4x im P x-0 4x x>0 4x
Lim  sin3x Lim  sin®3x _ Lim  sin(sinx) _
x>0 x%2+x x>0 X2 x>0 ” -
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